HKDSE Economics in Life
Data-response Question

Q.36

The huge budget deficit faced by the United States (the US) has raised concerns over
the US economy. How to reduce the budget deficit has become a matter of public
concern.

Source A: US federal government receipts (revenue) and net outlays (spending) for
fiscal years 2013 to 2022
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(Source: US Office of Management and Budget, retrieved from Federal Reserve Bank
of St. Louis)

Source B: A news report about the US budget deficit
The US budget deficit for the first six months of fiscal year 2023 reached $1.1
trillion, $430 billion higher than that for the same period of the previous year.

To pay for the fiscal deficit, the US federal government will need to issue more
government bonds. Worried that the US budget deficit and government debt will
continue to increase, a rating agency decided to downgrade the country’s sovereign
debt rating (which is a measurement of the government’s ability to repay its debts).
This will affect investors’ confidence in US government bonds.

(Source: various newspapers)
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Source C: Major categories of the US federal government’s sources of revenue and
spending in fiscal year 2023

Revenue by source categories ($ billion)
Individual income taxes 2,180
Social security and Medicare taxes 1,610
Corporate income taxes 420
Customs duties 80

(Figures as of 30 September 2023)

Spending by categories ($ billion)
Social security 1,350
Health 889
Medicare 848
National defense 821
Income security 774
Net interest 659

(Figures as of 29 September 2023)
(Source: US Department of the Treasury)

Source D: Some views on how to reduce the US budget deficit

Raising customs duties may increase government revenue,
but it will not significantly reduce the US budget deficit.

If the government imposes a higher individual income tax
rate on wealthy Americans, the US budget deficit will
decrease.

Since some social welfare expenditures in the US are
linked to the price level, imposing contractionary
monetary policies will help reduce budget deficit.

Stimulating production of firms can create more jobs and
increase the profits of firms, thereby reducing the US
budget deficit.

An economic analyst
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Questions
(@) Describe the situation of the US fiscal balance in the past ten years as shown in
Source A. (1 mark)
(b) Refer to Source B. With the aid of a supply-demand diagram, explain how
issuing more government bonds and downgrading the sovereign debt rating of
the US will affect the price of US government bonds. (6 marks)
(c) Referto Source C. Justify the viewpoint of the news reporter in Source D.
(1 mark)
(d) Explain if the suggestion of the councillor in Source D follows the ‘equity’
principle of taxation put forward by Adam Smith. (2 marks)
(e) Refer to Source C and the view of the economist in Source D. With reference to

the classical quantity theory of money, explain how the imposition of
contractionary monetary policies may reduce the budget deficit. (5 marks)

For part (), candidates are required to present their answer in essay form. Criteria for
marking will include use of sources and economic theories, relevant content, logical
presentation and clarity of expression.

(f)
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Suppose there are two policy proposals to reduce the US budget deficit.

Proposal I: to attract more immigrants with higher levels of education
Proposal 1l: to provide production subsidies to firms

With reference to the above sources and your own knowledge in Economics,
discuss the effects of each proposal on the following variables in order to
evaluate the two proposals.
- government revenue and expenditure
- aggregate output
- average labour productivity

(14 marks)



